usl*CurMon:Entry$

c D
o
=
=
O
7]
5 A
3l
[t
ol
1__ 3 7
oLk | L) '| .|!|:|. ||5i S TH |(NTS
0 100 00 00 400 500
Entry$

run5960 000 maindet usl.png

18000

16000

14000

12000

10000

8000

6000

4000

2000

usl*CurMon {ErrorFlag==0}

evtlree
Entries 297931
Mean 4.58

Std Dev 0.02052

4.65 4.7
usl*CurMon

asym_usl/ppm:pattern_number {ErrorFlag==0}

10000 ”
I X
R
EUUU;E}{ 4 §}{}{}{}{}{}{; i}{ ﬁ}{}:}{}{ H}}f:}{i}{}{ ;%g
oo RIS Hege 0k
-
10000 —
_III|III|III|III|IIIT<III'}"FT.‘II‘:I:3
0 20 40 60 80 100 120

pattern_number

asym_ usl
Entries 74446
1400 —

- Mean 4.325
1200~ Std Dev 1225
1000 __ Underflow 853

i Overflow 847

800
600
400~
200/—
:IIII|IIII|IIII|IIII|IIII|IIII
—3000 2000 —1000 0 1000 2000 3000
ppm




dsl*CurMon:Entry$

asi Lurmvion

L L L
= -

I
L
o)

lI ‘ : !
C
HY
Ly

ooooooo
CTRTRTITATAT

TR B
o Tl = o T e e e T
[T~ LTI CL L TNINT

0 100 .
run5960 000 maindet dsl.png

x10°

16000

14000

12000

10000

8000

6000

4000

2000

dsl*CurMon {ErrorFlag==0}

evilree

Entries

Mean

otd Dev

297931

-3.684

0.0116

-3.74 -3.72

-3.7 -3.68 -3.66

-3.64 -362 -36
dsl*CurMon

1500

1000

500

-500

-1000

-1500

-2000

asym_dsl/ppm:pattern_number {ErrorFlag==0}

.
O e

xgﬁxxx
__:x:}{ N ——

T

=;E§III|I

mam

| II 1T T 1T 1
* .
W
b
o

#

s

-
-
HUE

_}{__}{__ - —

e
S

e
=
g

x10°

-

l
100

|
1

20

pattern_number

5000

4000

3000

2000

1000

0

-3000

asym_dsl

Entries

Mean

otd Dev

Underflow

Overflow

74446

0.3768

319.2

0

0

I_III|IIII

-2000

—-1000 0

1000

2000 3000
ppm




usr*CurMon:Entry$

o

usr*CurMon

B

(]
1T 1T 1 | 1T 1T 1 | T 1T 1 | T 1T 1 |

[ | |”
1 Ll

DII

||ti || : | |li|i | |H'|l':|3

100 — 200
run5960 000 maindet usr.png

0( 400

500
Entry$

25000

20000

15000

10000

5000

usr*CurMon {ErrorFlag==0}

evilree

Entries 297931

Mean 4.722

Std Dev 0.02895

N

4.5 4.6 4.7 4.8 4.9 5

usr*CurMon

10000

5000

-5000

10000

asym_usr/ppm:pattern_number {ErrorFlag==0}

;K“}{K
|

|

|

= |
g

U

| [ ':{'IUS

l l
100 120
pattern_number

800

700

600

500

400

ngﬂﬂﬂ

asym_usr

Entries

Mean

!

{ Std Dev

J1I|_r Underflow

Overflow

74446

—0.02343

1547

7317

7216

|

-2000 1000 0 1000 2000

3000
ppm




dsr*CurMon:Entry$

asr-wurivion

o B
A K

dE
3K
2T

.*- 3

ol N T N P S T g T I * RS R S P Tl P8 T B0 Bl e 1,8 Tt T P P 8 g g8 g 1 B8
= - o o = o

St Gt ot it G ke =l wt b -LAT L= X
T 3 = L 3

L L Lm o e L L E L,

i —

TG ) ol i 3 e o8 Ml ™ 1 Pk o a3 B
e - =

:I!
|I! 1
o
L
o
A v
A

T THIEHH L A H L H S e e e -
mons JAEEOAOSEaSOSooOoo0o:. O
P e ey e T R S R N N TR

2 S A B g H

S ) e e e e B S S ;

Cu?
o,
00 g <
=
3

x10°

10000

8000

6000

4000

2000

dsr*CurMon {ErrorFlag==0}

I|III|III1III|II

evilree

Entries 297931

Mean -3.647

Std Dev 0.01532

-3.7

-3.68 -3.66 -3.64 -3.62

-3.6 -3.58

dsr*CurMon

1500

1000

500

-500

—-1000

-1500

-2000

asym_dsr/ppm:pattern_number {ErrorFlag==0}

ST T
ot

A

=

g

{7
| W
| R

>
.
":}::'I
"::{'l

s nw |

A

kY
oW
e

XXXK KX

i“}f“}{“}{

=}

=Wl

DIIII'I}{'I

N
-

x10°

20
pattern_number

4500
4000
3500
3000
2500
2000
1500
1000

500

0

asym_dsr

|IL||||ILI|

Entries

Mean

otd Dev

Underflow

Overflow

74446

—0.9533

385.3

0

0

-3000 2000

—-1000 0 1000

2000

3000

ppm




yield usl:pattern_number {ErrorFlag==0}

0.0322 —

0.0314

0.0312—

x10°

run5960 000 pairTree usl.png

l 1
100 120
pattern_number

9000

8000

7000

6000

5000

4000

3000

2000

1000

yield_usl {ErrorFlag==0}

htemp

Entries 148938

Mean 0.03178

otd Dev 9.96e-05

0.0312 0.0314 0.0316 0.0318 0.032 0.0322

yield usl

asym_usl/ppm:pattern_number {ErrorFlag==0}

20000
E s #
15000
10000~ ; : :
;ﬁi}}é XK 8 élﬁ‘i}{ K i}{ }{;{i}{}{}{;}{ 2K
000 [k O g S
of HHHHHH%H%HHHH%HHHH%%%HHHHHHH%%H
5000 |t ] Lol ] |11 Lo .
e %Qg"x§§x§§§§§§§§xx§xxxx§§§§§"xxx§
X KK, # HoX KoMK HX
% * x x
10000 —
B }{
i x
-.I EDDD _l L1 | | I | L1 1 | I | | I | | I H‘I DS
0 20 40 60 80 100 120

pattern_number

asym_usl/ppm {ErrorFlag==0}

— PairTree
10000 _— Entries 148938

I Mean 4.028
8000 —

i Std Dev 1879
6000 —
4000 —
2000 —

[]_||IIII|III ||||||||| |||||||||||||

—15000-10000 -5000

0

5000

10000 15000 20000
asym_usl/ppm



yield_dsl:pattern_number {ErrorFlag==0} yield_dsl {ErrorFlag==0} asym_dsl/ppm:pattern_number {ErrorFlag==0} asym_dsl/ppm {ErrorFlag==0}

02535 6000 htem P - 2000 PairTree
- - 3000 ~ ) T N
0.0254 = Entries 148938 1T 7Tl __TTT- TTT |- -] - - T- n Entries 148938
s 5000 1Tl || T T TTI T T+ T+ T 3500~
PP - 2000 - -
0 : - Mean —0.02556 ! 3000 :_ Mean 0.4558
: 4000 — 1000 - 1 :
B Std Dev 4.679e-05 = 2500 [ otd Dev 1039
3000 0 BREHEEHEEEREEREARAEHRRBRAREERREBAREERE 2000
2000 - ~1000 i LU 1500
il | | _
02565 i [ } 1000~
- - -2000 i N
- 1000— 110 LL]] NN el e 1L -
0.0257 - oL L AL T L] | 500
- 5 .;_ o - ~3000 — -
_Illllllflllll'-lll|II'I|II :":1“ DIIIII IIII|IIII|IIII|IIII|III|I |IIII|II _III|III|III|III|III|II H‘ID D_IJ. I|IIII|IIII|IIII|IIII|I|I|I|
20 40 60 80 100 ‘IED —0.02576.0257.02565.0256.02550.0 02546.0253.02535 0 20 40 60 80 100 ‘IED -3000 -2000 -1000 0 1000 2000 3000
pattern_number yield_dsl pattern_number asym_dsl/ppm

run5960 000 pairTree dsl.png



yield usr:pattern_number {ErrorFlag==0}

0.0335—

0.033

0.032—

0.0315—

x10°

run5960 000 pairTree usr.png

l 1
100 120
pattern_number

yield_usr {ErrorFlag==0}

10000 p
: Entries 148938
8000 __ Mean 0.03276
- Std Dev 0.0001443
6000
4000
2000
N e
%_5315 0.032 0.0325 0.033 0.0335
yield usr

asym_usr/ppm:pattern_number {ErrorFlag==0}

20000

N %
15000 5 y y

= % 3 p 3%

o [ TE % %18 % xx¥X % %
10000 = = |xx o x o= | Tx R B D S S T

| s | T o Sos w0 || OG0 || iax

- X 9 X %
5000
~5000 {-

I §KKK nxxm%% ¢ gxgx uvicvvl l bvivty
10000 H-| ¢ x| aedcix L %77 55 n%xx

% % % 5 1l 2R Hn

L L Lo Hgﬁ ¥

b 3% %
15000 - x 8 %

N e

B | | | | | | | | | | | | | | | | | | | | | H‘IDS
EDUDDD 20 40 60 80 100 120

pattern_number

9000
8000
7000
6000
5000
4000
3000
2000

1000

2

asym_usr/ppm {ErrorFlag==0}

PairTree
Entries 148938
Mean -5.59
Std Dev 3031

00081500610000-5000 O

5000 100001500020000
asym_usr/ppm



yield dsr:pattern_number {ErrorFlag==0}

-0.025

0.0251

0.0252

ik S | 1T 1T 1 | | I D

0.0255

| L1 H1U3

run5960 000 pairTree dsr.png

l 1
100 120

pattern_number

yield_dsr {ErrorFlag==0}

soo0] htemp
i Entries 148938
4000
- Mean —0.0253
B Std Dev 6.896e—05
3000
2000
1000
_I L | I | L1 1 1 | | I I | | L1 1 | I
_0H256 —0.0255 —0.0254 —0.0253 —0.0252 —0.0251 —0.025

yield dsr

2000

1000

—-1000

-2000

asym_dsr/ppm:pattern_number {ErrorFlag==0}

e

A
| e W

| W

=

| B

{
RE

| R

| W R

et x
et s s
e A A4 s o
SR St bt £ E ot

-

< 3 K Hﬁkkﬁﬁéﬁk§ﬁﬁﬁﬁﬁkkﬁ 3 KK KR KK
HHHHGHHHIHHHET T3 MR o R KKK
ESS SIS S M HOMHHHE KR XK
— XH M MR ¢ ¢ XX X
i X X X X XX
X X X
- 3
l l | |1 1 | [ 1 1 | 1 | | | 1 1 | |1 1 :"C:‘ID
20 40 60 80 100 120

pattern_number

6000

5000

4000

3000

2000

1000

asym_dsr/ppm {ErrorFlag==0}

PairTree
Entries 148938
Mean —-0.9697
Std Dev 525.3

-2000 1000 0 1000 2000

asym_dsr/ppm



asym_usl

asym_dsl

asym_usr

asym_dsr

runs960 000

0.01 —12( 0.01 O 0.01 0
i i —14( i .
i i L] [ =
I 10 I 12 I
0.005|- 0.005|- 0.005|- —10¢
- {80 - 1o -
0 0 a0 0l—
i - i
I a 80( .
-0.005 - -0.005 -0.005
- - 40( -
- . - = 20( - . 20¢
-0.01— ~0.01— -0.01—
" | | | | | il | | | | | | i |
| | | | | | | | | | | | L1 1 1 L1 11 L1 1 1 L1 11 L1 11 L1 1 1 L1 11 | 1 | | | 1 | | | | 1 | | | 1 | D
~0.01 ~0.005 0 0.005 ~0.002-0.0015-0.001-0.0005 0 0.0005 0.001 0.0015 ~0.01 ~0.005 0 0.005 0.01
asym_usl asym_dsl asym_usr
2.00151 ya¢ 2.00151 2.00151
: . —80( - —lant
0.001 0.001 0.001
x —12( - —70( : —70¢
2.0005F ioc 2.0005F —60( 2.0005 eoc
- N - "
0= 0= 50( 0= 500
' - -
).0005 | 2.0005F 2.0005F 40t
- - - 30
-0.001F ~0.001F ~0.001F
- - - 20¢
).0015 7.0016 7.0016
N - n 10¢
B | = B ]
_D'DGE [ | I | | | | I | | | | I | | | _D'DGE _I 1 111 I L1 11 I 1 111 I 1 1 11 I L1 11 I 111 1 I L1 11 I | _D'DGE _I | I | | 1 | I | | | 1 | I | | 1 | I D
~0.01 ~0.005 0 0.005 ~0.002-0.0015-0.001-0.0005 0 0.0005 0.001 0.0015 ~0.01 ~0.005 0 0.005 0.01
asym_usl asym_dsl| asym_usr
0.01 0.01 0.01
i —12( i _|goc i — 70t
N N N
- 0 - —70¢ - —160¢
0.005 —10¢ 0.005 0.005F
- - 60 - —50¢
i - . i
| | | 30¢
-0.005 - -0.005— -0.005—
i i i 20(
~0.01— ~0.01— u ~0.01— 10¢
n = [ | [ | - N
| | I | | | | I | | | | I | | | _I 1 111 I 1 1 11 I 1 111 I 1 1 11 I 1 1 11 I 1 11 1 I 1 1 11 I | | 1 | I | | 1 | I | | | 1 | I | | 1 | I D
~0.01 ~0.005 0 0.005 ~0.002-0.0015-0.001-0.0005 0 0.0005 0.001 0.0015 -0.01 ~0.005 0 0.005 0.01
asym_usl asym_dsl asym_usr
- - —a0( -
n —12¢ n n _
).0015F ).0015F ).0015F 7ot
- - —80( -
0.001F- —{10¢ 0.001F- oo 0.001F- —[e0
2.0005 o 2.0005 —60C 2.0005 —50¢
N - u N
o o S0 o 40(
. - 40¢ -
).0005 ).0005 ).0005 30t
N N 30( N
~0.001 ~0.001 ~0.001 20(
N - 20¢ N
).0015 2.0016 100 7.0015— 10¢
- - L -
_D GGE B I | | | | | D ﬂﬂ _I 1 111 I 1 1 11 I 1 111 I 1 1 11 I 1 1 11 I 1 11 1 I 1 1 11 I | _D GGE B | 1 | | | | 1 | I | | 1 | I D
0.01 0.45 ? 0. m:r5 0. m l .002-0.0015-0.001-0.000% f{wﬁ 0.001 0.0015 Z 01 0. m:r5 0 0.005 0.01
—asym malndet tua ~correlatiomn “‘COL png

um_ N ya
- —10¢
0.005
i —laoc
|:|_
_0.005
- N
—0.01
i | | L | | |
—0.002-0.0015-0.001-0.0005 0.0005 0.001 0.0015
asym_dsr
1.0015 —90¢
—{&oc
0.001
—{70¢
7.0005
—{80¢

J.0005

-0.001

J.0015

=
T T T T [T T T T[T T T T[T T T T[T T T T [T TT T[T TT 11
I I I I I I I I
[

-0.002

—0.002-0.0015-0.001-0.0005 0O

0.0005 0.001 0.0015
asym_dsr

0.01—

n —70(
B —60(

0.005—
B —50(

0

-0.005—

-0.01—
- [
_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

—0.002-0.0015-0.001-0.0005 0O

asym_dsr

0.0005 0.001 0.0015
asym_dsr

J.0015

0.001

J.0005

J.0005

-0.001

J.0015

=
T T ' T TT T T ' T TT T T T TT1 T T T TT
I I I I I I I

—70C

—&0C

—50(

_Dlﬂ%g||||I||||I||||I||||I||||I||||I||||I|||

—0.002-0.0015-0.001-0.0005 0O

0.0005 0.001 0.0015
asym_dsr



asym_usl

asym_dsl

asym_usr

asym_dsr

runs960 000

asym_usl

w2/ ndf 19.6/ 20 i
p0  —3.186e-07 + 2.657e-07
p1 0.997 + 0.000 =
D |
0.005 e
_0.01
| | I_ | | | | | I | | | | | 1 | | | | | 1 | | I |
—0.01  -0.005 0 0.005 0.01
0.4 %2/ ndf 24.68 /20
i p0 7425608 + 1.1932-086
0 2__ _ p1 —0.001904 = 0.001010
I | } Cor factor ~0.0098
0 B P} J’Mﬂﬂ _
0.2
0.4
i | | | | | | | I | | | | | 1 | | | | | 1 | | I |
—0.01  -0.005 0 0.005 0.01
¥* / ndf 11.52 /20 -
p0 —9.616e—06 + 8.591e-06
p1 0.1999 + 0.0073
Cor factor 01146 |_
O 1 */;HH -
- {#ﬁ-l-h J[
0.005
_0.01
i | | | | | | | I | | | | | 1 | | | | | 1 | | I |
—0.01  -0.005 0 0.005 0.01
¥2 | ndf 21.18/20
p0 9.263e-07 + 1.440e-06
p1 0.001645 = 0.001224
Cor factor 0.0052
2.0002 } |
0 :— | Hﬁwﬂﬁﬂﬂ
).0002F
).0004 | -
).0006 - - T
| | | | | | | I | | | | | | | 1 | | I |

-0.01 -0 05

asym mainde

0.005

t mutual

asym_dsl

0.001

J.0005

J.0005

-0.001

J.0015

-0.002

J.0025

w2 | ndf 38.57 /32
p0 5.974e—06 + 4.950e-06
p1 —0.04614 + 0.01760

Cor factor -0.0098

T

—0.002-0.0015-0.001-0.0005 0O

asym_dsl

0.0005 0.001 0.0015

2/ ndf

28.24 /32

pld  —4.355e-08 £ 4.102e-08

Pl 0.9991+ 0.0001

J.0005

-0.001

J.0015

—0.002-0.0015-0.001-0.0005 0O

0.0005 0.001 0.0015

asym_dsl

B - ¥2 | ndf 29.74 | 32
0.003

- _ B0 —6.516e—06 + 8.6642-06
0.002 :— p1 —-0.07103 + 0.03065

E - Cor factor —0.0068
0.001 ‘

S (WO

O wﬂ} T bt HH ﬂ 1[

~0.001 J[ ]l |
-0.002
-0.003

—0.002-0.0015-0.001-0.0005 0O

asym_dsl

0.0005 0.001 0.0015

¥ f ndf

Cor factor

28.83/ 32
pO —1.063e—06 = 1. 444206
p1 0.007577 = 0.002101

0.0054

L= gy =

-0.2—

-0.4—

ol
Hhﬁwwwfﬁ # %

0.002-0.0015-0.001-0.000

COrre

lation-fit.png

¥% / ndf 29.85/ 36
pO 2.963e06 + 4 91606
p1 0.06678 + 0.00242
Cor factor 0.1146
0.004 —
0.002—

-

ok ‘“Hmﬁf M i

#

i

.I.

—D.DGE 1 | | 1 | | | | | | | 1 | | 1 | | | | | | | |
~0.01  -0.005 0 0.005 0.01
04l - . %2 / ndl 40.64 / 36
- n0 6.345e-07 + 1.197e-06
0.3F
- § pi ~0.0008587 + 0.0005859
0.2
N t Cor factor -0.0068
0.1 } ‘
: fy f H
~0.1F }
-0.2
~0.3F
: 1 | | 1 | | | | | | | 1 | | 1 | | | | | | | |
~0.01  -0.005 0 0.005 0.01
2 { ndf 43.84 / 36 i
p0  1.592e-07 + 2.636e-07 B
p1 0.9989 + 0.0001
D _
~0.005 -
0.0 -
| _I | 1 | | | | | | | 1 | | 1 | | | | | | | |
-0.01  -0.005 0 0.005 0.01
m.e.)—’ —
i ¥2 { ndf 23.96 / 36
ol PO —6.832e-07 + 1.443e-08
i p1 —~0.002015 + 0.000705
0.2 Cor factor -0.0111
= .Hl {

-0.2— -

—0.4|-

—D.ﬁ_l | | 11 1 | | L1 1

-0.01 —-0.005

72 ndi 43.26 / 37 -
00 3.68e-06 + 4.96e—06 |
o1 0.02414 + 0.01467 }
Cor factor 0.0052
B A
_0.001
_0.002
_0.003
_||||||||||||||||||||||||I||||||||||||||

—0.002-0.0015-0.001+-0.0005 0 0.0005 0.001 0.0015

asym_dsr

% 1 ndf 33.57 /37
pO 3.565e-07 £ 1.197e-06
p1 0.004768 + 0.003500
Cor factor 0.0054
0.1
0
-0.1F 1[
-0.2
-0.3F

fhevesmatifl

ﬁ

—0.002-0.0015-0.001+-0.0005 0 0.0005 0.001 0.0015

n ¥/ ndf 41.44 / 37
0.003F
N B0 ~5.707e—06 + 8.669¢-06
0.002
B p1 —.05975 + 0.02564
0.001F W Cor factor ~0.0111
oF - %ﬂ%ﬁ%wwg }m
0001 | | k
-0.002—
-0.003
-0.004F 1
_IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

—0.002-0.0015-0.001+-0.0005 0 0.0005 0.001 0.0015

7.0015F
B Entries 74446
0.001
- 1 Mean  -9.533e -07
2.0005F
N Meany -9.533e 07
0l
- Std Dev  0.0003853
).0005— Std Dev y 0.0003853
~0.0011 &
1.0015F
:II_IllIIII|IIII|IIII|IIII|IIII|IIII|IIII

—0.002-0.0015-0.001+-0.0005 0 0.0005 0.001 0.0015




asym_usl

asym_dsl

asym_usr

asym_dsr

runs960 000

asym_usl

0.01—

0.005

-0.005— o

-0.01—

asym_usl

asym_usl

J.0015

0.001

2.0005

1.0005

—0.001

1.0015

-0.002

asym_usl

]
—-0.01 —-0.005
asym_usl

0.01—

0.005

-0.005—

-0.01—

asym_usl

1
—-0.01 —-0.005
asym_usl

J.0015

0.001

J.0005

1.0005

—-0.001

1.0015

=
T T ' T TT T T ' T TT T T T TT1 T T T TT
I I I I I I I

-0.002

| | | I | |
-0.01  —0.g5

asym maind

asym_dsl

0.01—

0.005

-0.005—

-0.01—

—-0.002-0.0015-0.001-0.0005 0 0.0005 0.001 0.0015

asym_dsl

asym_dsl

J.0015

0.001

J.0005

J.0005

-0.001

J.0015

_D‘DGE_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

—-0.002-0.0015-0.001-0.0005 0 0.0005 0.001 0.0015

asym_dsl

asym_dsl

0.01—

0.005

-0.005—

-0.01—

—-0.002-0.0015-0.001-0.0005 0 0.0005 0.001 0.0015

asym_dsl

asym_dsl

J.0015

0.001

J.0005

J.0005

-0.001

J.0015

=
III|IIII|IIII|IIII|IIII|IIII|IIII|III

—D.ﬂﬂ _IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

002-0.0015-0.001-0.0005g 0 T[HE 0.001 0.0015

tual corre

asym_usr

0.01—

0.005

-0.005—

-0.01—

—0.01 —0.005 0 0.005 0.01
asym_usr

asym_usr

J.0015

0.001

J.0005

J.0005

-0.001

J.0015

-0.002

—0.01 —0.005 0 0.005 0.01
asym_usr

asym_usr

0.01—

0.005

-0.005—

-0.01—

-0.01 -0.005 0 0.005 0.01
asym_usr

asym_usr

J.0015

0.001

J.0005

J.0005

-0.001

J.0015

=
T T ' T TT T T ' T TT T T T TT1 T T T TT
I I I I I I I

-0.002

-0.01 —-0.005 0 0.005 0.01

1o1-scat.png

asym_dsr

0.01—

0.005

-0.005—

-0.01—

—-0.002-0.0015-0.001-0.0005 0 0.0005 0.001 0.0015
asym_dsr

asym_dsr

J.0015

0.001

J.0005

J.0005

-0.001

J.0015

_D'DGEIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

—0.002-0.0015-0.00+0.0005 0 0.0005 0.001 0.0015
asym_dsr

asym_dsr

0.01—

0.005

-0.005—

-0.01—

-0.002-0.0015-0.001-0.0005 0 0.0005 0.001 D.0015
asym_dsr

asym_dsr

J.0015

0.001

J.0005

J.0005

-0.001

J.0015

=
T T ' T TT T T ' T TT T T T TT1 T T T TT
I I I I I I I

—D.ﬂ IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
—{I]%D[}E—D.DGIE—D.DGI—D.UDDE 0 0.0005 0.001 0.0015

asym_dsr



